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(a) What is Cost Accounting? what is the difference between Cost Accounting

1. (o i § ©

and financial Accounting?

(b) I'3><l>lain the following with suitable examples ;-
(i) Cost Centre,
(ii) Cost Unit and

(i) Out of pocket costs. - )

" OR

The following data is available from the books and records of KM Ltd for the
Year 2023 :

Amount (Rs)
Salesusd. BRED £5,00,000
Material 1-1-2023 = . A s B - 40,000
Material 31-12-2023 o EEE ' H Eateey 32,000
| Work-in- progress 1-‘1;-2023_ s | bt £ T (R 55,000
'Work-'i'n- progress 31'-12-2023. " ot o : . _ it gy 72,000
Finished goods 1-1-2023 T 1 ... 64,000
Finished goods 31-12- 2023 A e et 1,51,000
Materials purchased L op i e “1,52,000
Direct Labour R S : 1;45,000
Manufacturing overheads L | v . 1,00,000
Sale of Scrap . N , | _ SR S IN00
Quality Control costs ' b, 10,000
Selling ekpenses | . a . 50,000
Office and administration exoenses: ‘
Factory office expenses’ A . | 15 ,000
- General ofﬁo‘e expenses ‘ = et 25,060
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You are required tg Prey, the

are a Cost sheet fof

(i) Prime Cost
(i) Factory cost
(i) Cost of productiop

(iv) Cost of goods sold

3 ear 2023 Showing :

(v) Cost of sales and Profit earned. (18)
2. The following information relates to Material ZX. =

Maximum Consuniption o i - 600 units ber month

Minimum consumption Wl e 1_0:0’i'mi't’s per month

Normal Consumption 360 units per month

Yearly Consumption | _ -b |, 3,600 units

Annual Carrying costperunit & i | ©50% of price of material

Ordering Cost ' - | Rs. 400 per order

Price of material ‘ | Rs. 64 per unit

Re-order period ‘ E i i ol 4 ,t]9_8:Weeks

PT.O.
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Find out :

(i) Economic Order Quantity,

(ii)) Re-order Level,

(iii) Minimum stock Level,

(iv) Maximum stock Level, and

. (18)

(V) Average stock Level.

OR

(a) How is Scrap different from Spoilage? How are scrap and spoilage treated

(b)

in cost accounts? -

®

From- the following . 1nformat10n f1nd out the employee turnover rate by

applying (1) Flux method (11) Replacement Method and (111) Separation

Method.

Number of wquers on the payroll at the beginning of the month 500 and at
the end of the month 600, During the month, 5 workers left, 20 were
discharged and 75 were recruited, Of those recruited 10 were against the

vacancies of those leaving while the rest were engaged for an expansion -

'scheme. J .
. NO)!

following infor |
The g matlon relates to the activities of a productlon department in

a certam factory:;
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Materials ugeq 72,000

Dil‘§ct: wages 60,000

Hours of machine Operation T

labour hours workey 24,000
48,000

Overheads chargeape to the department

Fora Pal‘tlcular order carried out in the department durlng 2023 the relevant

data were :
RO
Materials uséd e ; nlde '4,000 !
4Laboufh0urs | g iy : _ 1.:,:6_50“‘
Direct wages ; v ' ‘ 3,300 :
Machine hours | e | 1,200. gt

Prepare a compafatlve statement of cost for thq Order by using the following 3

methods of recovery of overheads :
(i) Direct labour hour rate method
(i) Direct labour cost rate method

(iii) Machine hour rate method

(18)
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OR

' ‘ s with
ning profits on the following contracts

Discuss the method of ascertal

example :
(i) When contract i8 completed
(i) When contract is not completed

(18)

(iii) When contract is nearing completion

'\"s-A-."‘- 132

The following direct costs Were incur’ﬁ:’d on a Job no. 121 of a company.

Materials _?65010 :
Wages:
Department A _ 60 hours @ %30 per "ho_ur-
B - 40 hours @ %20 per hour
C ~ 20 hours @ %50 per hour
Overheads for these 3 departments were estimated as follows:
Variable overhead:'
e ?115’000 for 1,500 labour hours

B_
= %4,000 for 200 Iabour hours

Cx 3 " sl o ‘
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Fix.ed overheads :

rking hours:

imated at
Estnma ed a _?40.000 for 2000 normal WO

: fi
Calculate the cost o rice to give pro
Job 121 jate the P
and calculd

selling price.

OR

t of 25% on

(18)

(a) Descnbe admxmstratlve overheads and brleﬂ}’ discuss the treatment of such

overheads In cost accounts

©

(b) What do YOu understand by “Operating cost”? Describe its essential features

and state where it can be useﬁilly implemented. ®
The following information relates to Proc'e‘ss X
Units
Opening work-in-progreSS-(30% complete) valued at ¥ 640 200
Units introduced during current period 1,000
Finished output during the period transferred to progess v 1,100
Closing work-in-progress (40% complete) _ . 100
Costs incurred during the period | 39 0.00
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undcr'stand by Normg Wastage, Abnormal

y() u

a) W lo ;
(a) What d¢ g Gain? How wi
. You deal with them in cost

)

Wastage and Abnorl

accounts?

ated accountmg? State the advantages and disadvantages of

(b) What is integr
9)

integrated accounts:
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